ANDERSON DESIGN & FABRICATION
2018-2024 Subaru Crosstrek

GAS TANK SKID PLATES

Installation

Factory Application:

#GTS-SB. CT
Brackets:
QTY Part Number
1 GTS-SB. CT-R

1 GTS-SB. CT-L




2 2" Small AL Spacers
2 1” Small AL Spacers
Hardware:
QTY Part Number
4 M6 x 25 x 1.0 Flange Bolts
4 M6x1.0 Flange Nuts
4 M8 X 25mm x 1.25 Flange Bolts
2 M8 x 1.25 Flange Nut
2 M8 x 40mm x 1.25 flange Bolt
2 M8 Washers
1.5-2” Lifted Application:
#GTS-SB. CT
Brackets:
QTY Part Number
1 GTSB.CT.L
1 GTSB.CT.R
1 GTSB.2.L (OUTBACK)
1 GTSB.2.R (OUTBACK)
2 2" Small AL Spacers
2 1” Small AL Spacers

Hardware:




QTY Part Number

4 M6 x 25 x 1.0 Flange Bolts

4 M6x1.0 Flange Nuts

8 M8 X 25mm x 1.25 Flange Bolts
6 M8 x 1.25 Flange Nut

2 M8 x 40mm x 1.25 Bolt

2 M8 Washers

1. Remove the factory plastic mudguards.

2. The skid plates are marked L (left) and R (right), as are the rear mounting brackets at the rear of
the car. These correspond to the vehicle's left and right sides.

3. Install the front section of the skid plates first. The inner mounting location will require a 1”
spacer, along with an M8 x 40mm bolt and washer.

4. The outer mounting location will need a %" spacer, along with an M8 x 25mm bolt and washer. Do
not fully tighten them until the rear mounting bracket is in place.

5. The mounting brackets are marked L and R. There are two styles of brackets: one for stock with
no lift and another for the lifted model.

6. The stock bracket is fixed and can only be installed one way. Ensure it is attached to the
subframe, then install the bracket to the top side of the skid plate with the hardware pointing
upwards.

7. For lifted brackets, which have two heights for adjustment (1.5” and 2"), pre-assemble the bracket

to the desired height. Mount them to the chassis using an M8 x 25mm bolt and flange nut.

BAR KT




Once the rear brackets are mounted, begin to torque each bolt down. The M8 bolt can be torqued to 12.5
ft-Ibs, and the M6 bolt can be torqued to 8 ft-lbs. Before considering the job complete, ensure there are no
interferences.

If you have any questions feel free to reach out

5035750034
Sales@awdadventure.com



